Organic identifying (Level 2) exam tips
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Also…”don’t be daft”
UV light has ABSOLUTELY NO effect on the reaction of acidified potassium permanganate (or dichromate) with an alkene
Never ever describe a colour as clear, write COLOURLESS
For colour changes always state the initial AND final colours
Litmus paper must be DAMP
Be careful the CORRECT formula for potassium permanganate is KMnO4
[bookmark: x2.5_AS_91165_Demonstrate_understanding_]Present your answers in a WELL STRUCTURED and ORGANISED manner
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Tests for identifying Organic substances

mmiscible, | immiscible, ranze > colourless after
alkane floats | alkcane floats 10 mins ifleft in light
ontop.two | ontop. two
different different substitution reaction
layersare | layersare 2 products formed
visible visible 1isHBr
the other is 1-bromoalkane
mmiscible, | immiscible, Granze > colourless
alkene floats | alkene floats immediately purple > colourless
ontop.two | ontop. two
different different addition reaction oxidation reaction
layersare | layersare immediate reaction diol formed
visible visible 1 product formed which is
a dibromoalkane
Soluble Soluble
@ptos @ptos purple > colourless | oxidation reaction
carbonatoms | carbon orange > green | greenas
in chain atoms in oxidation reaction | carboxylicacid | mevtral
length) | chain length) carboxyic acid formed.
Soluble bubbling | bubbling |  nevtralisafion reaction
@ptos salt,water | assalt | acids that are insoluble in orangeor | blue
carbonatoms | and carbon | waterand |  water will be soluble in P
in chain dioxide | hydrogen | M NaOH as acids react to acidic | fumsred
tength) formed | gas formed | form the sodivm salf of the
acid
Soluble Soluble ‘Sevtralisation reaction. Ted
@ptos @ptos ‘amines that are insoluble in fitmus
carbonatoms | carbon water will be soluble in 6M blue as basic | fums blue
in chain atoms in HCl as amines react to form.
length) | chain length) ‘ammonium chloride salt
* water is polar,

‘many organic substances eg bromine water, hexane are non-polar
‘polar and non-polar substances do not dissolve in each other, because of this, two layers form as polar and non-polar layers do not mix.





